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   Seat No.: _____________                                            Enrolment No._________________ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Semester -III (Chemical Engg)  Examination January- 2010 

 

Subject code: 330503                        Subject %ame: Industrial Stochiometry 
Date: 27 / 01 / 2010                            Time: 11.00 am – 1.30 pm   

     Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is Authentic. 

5. Programmable Calculator is not allowed. 

6. Atomic & Molecular weight :    O-16, C-12, N-14, K-39.1, H-1, Air-28.8, Na-23, S-32 

Q.1 (a) Define following and give SI unit 06 
  (1) Fundamental quantity      (2) Pressure          (3) Work  

(4) Derived quantity              (5) Mole               (6) Heat  

 

 (b) A mixture of gases has following composition by mass: 

 O2 16%,  CO 4%,  CO2 17%  and  N2 63%. Calculate the molar 

composition and  average molecular weight of gas mixture. 

08 

Q.2    
 (a) Calculate the mass of  K2CO3 required in grams to prepare 1500 ml 

aqueous 

07 

  (1) 0.5 Normal solution 

(2) 0.7 Molar solution 

(3) 0.8 Molal solution, if the density of solution is 1.12 gm/cc 

 

 (b) Derive the relationship : Cp – Cv =  R                                                                               07 
  OR  
 (b) Define following 07 
  (1) Sensible heat        (2) Latent heat           (3) Enthalpy  

(4) Specific Heat       (5) Heat Capacity      (6) Heat of formation  

(7) Heat of reaction 

 

Q.3    
 (a) When Gypsum is roasted with clay, Sulphur dioxide and Cement 

clinkers are produced :                     

3CaSO4(s) + 3SiO2(s) → 3CaO.SiO2 (s) + 3SO2(g) + 3/2 O2 (g)                                       

The Standard heat of formation of Compounds are given as : 

    CaSO4   =  -1432.7 KJ/mol,     SiO2  =  -903.5 KJ/mol   

    CaO.SiO2  =  -2879 KJ/mol,          SO2  =  -296.8 KJ/mol 

   Calculate heat of reaction. 

06 

 (b) The dry bulb temperature and dew point of atmospheric air are 29
0
C 

and 18
0
C.Ambient pressure of the location is 750 mmHg. Vapor 

pressure of water at 29
0
C and 18

0
C are 30 mmHg and 15.5 mmHg 

respectively. Calculate : 

 (1) Absolute molal humidity  (2) Absolute humidity   (3) %RH 

08 

  OR  
Q.3 (a) Define following terms 06 
  (1) Absolute humidity      (2) Dry bulb temperature    (3) Wet bulb 

temperature  (4) Percentage humidity   (5) Relative humidity         (6) 

Dew point 
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 (b) A heat exchanger for cooling a hot refinery oil uses 10,000 Kg/hr of 

cooling water.  Water enters at 294
0
K. Hot oil flow rate is 5000 Kg/hr 

and temperature is 423
0
K. Average heat capacities of hot oil and 

water are 2.51 KJ/Kg
0
K and 4.19 KJ/Kg

0
K. Outlet temperature of oil 

is 350
0
K. Calculate the outlet temperature of water in 

0
C. 

08 

    
Q.4    
 (a) Define following                                                                                                             06 
  (1) Limiting reactant     (2) Excess reactant   (3) Equivalent weight 

(4) Conversion              (5) Yield                    (6) Fuel 

 

 (b) In a textile mill, a double effect  evaporator concentrates weak liquor 

containing 4%(wt.) Caustic soda(NaOH) to produce a solution 

containing 25% solids. Calculate the Kg of water evaporated per 100 

Kg feed in the evaporator. 

08 

  OR  
Q. 4 (a) Define following 06 
  (1) Process flow diagram   (2) Recycling        (3) Bypass 

(4) Material balance           (5) Batch process   (6) Continuous process 

 

 (b) 100 m
3
 of Ammonia gas at 25

0
C and 750 mmHg pressure is absorbed 

by 20% aqueous sulphuric acid to produce aqueous Ammonium 

sulphate 

08 

        Calculate (1) Amount of Ammonium sulphate formed 

                      (2) Amount of 20% Sulphuric acid required 

 

Q.5    
 (a) Define following 06 
  (1) Gross calorific value   (2) Proximate analysis  (3) Ultimate 

analysis      (4) Excess air   (5) Combustion      (6) Net calorific value 

 

 (b) Acetylene reacts with water as follow :                                                                             08 
       C2H2 + H2O  → CH3CHO  
  If the flow rate of Acetylene is 1.5 ton/hr, conversion is 55%, and 

yield is 95%, Calculate the amount of Aldehyde formed. 

 

  OR  
Q.5 (a) Analysis of the flue gases from a chimney is: CO2 11.4%, O2 4.2%, 

N2 84.4%.  Assuming complete combustion,  calculate the percentage 

of excess air used. 

06 

 (b) Feed to a vacuum crystallizer contains 82% Urea, 0.5% Biurette & 

17.5% H2O by weight.  In the Crystallizer 50% H2O is evaporated at 

500C. At this temperature solubility of Urea is 205 mg/100gm of 

solvent. If the mother liquor contains 1.6% Biurette, find the yield of 

Urea crystals. 

08 

 

******** 
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;}RGF    :    
1. TDFD 5F\R 5||`GMGF HJFA OZHLIFT K[.  
2. H~Z H6FI tIF\ IYFIMuI WFZ6FVM AF\WJL. 
3. HD6L AFH] NX¶FJ{, VF\S0F 5||`GMGF 5}ZF U]6 NX¶FJ[ K[. 
4. V\U|[HL 5+ VFWFZE}T U6FX[P 
5. આ�વીય અને પરમા�વીય ભાર : : : : O-16, C-12, N-14, K-39.1, H-1, હવા-28.8, Na-23, S-32 

 

5|`Gv!5|`Gv!5|`Gv!5|`Gv!    V નીચેના ંપદોની �યા�યા અને SI એકમ આપો. _&_&_&_&    

     (૧)�ળૂ રાશી       (૨)દબાણ        (૩)કાય&   (૪)સાિધત રાશી        (૫)મોલ    (૬)ઉ0મા     

 A એક વા1 િમ2ુ ણમા ં4�ય આધાર5ત ઘટકો8 9માણ િનચે 9માણે છે ુ :                                        

O2 16%,  CO 4%,  CO2 17%  અને  N2 63%. વા1 િમ2ણના ંઘટકો8 ંમોલ આધાર5ત ુ ુ

9માણ અને સર;રાશ પરમા<ભાર ગણોુ . 

_(_(_(_(    

       
5|`GvZ5|`GvZ5|`GvZ5|`GvZ    V ૧૫૦૦ મીલી K2CO3 8 ુિનચે 9માણે 4ાવણ તયૈાર કરવા માટ; જAથો ગણો: _*_*_*_*    

      (૧) ૦.૫ નોમ&લ 4ાવણ 

 (૨) ૦.૭ મોલાર 4ાવણ 

 (૩) ૦.૮ મોલાલ 4ાવણ, 4ાવણની ઘનતા ૧.૧૨ Fામ/મીલી છે. 

    

 A નીચેનો સબધં તારવો : Cp – Cv =  R                                                                        _*_*_*_*    

  VYJFVYJFVYJFVYJF     
 A નીચેના ંપદોની �યા�યાઆપો. _*_*_*_*    

  (૧)સવેંદ5 ઉ0મા      (૨)HIત ઉ0મા ુ       (૩)JથાKપી  (૪) િવિશ0ટ ઉ0મા                

(૫)ઉL0મય Mમતા     (૬)બધંારણ ઉ0મા   (૭)9N5યા ઉ0મા 

    

5|`Gv#5|`Gv#5|`Gv#5|`Gv#          
 V OજIસમને માટ5 સાથે P ૂજંવામા ંઆવે છે Qયાર; સKફર ડાયોTસાઇડ અને િસમVટના ંગWા 

બને છે:                

_&_&_&_&    

  3CaSO4(s) + 3SiO2(s) → 3CaO.SiO2 (s) + 3SO2(g) + 3/2 O2 (g) 

સયંોજનોની 9માXણત બધંારણ ઉ0મા આ 9માણે છે : 
    

  CaSO4   =  -1432.7 ક5લોYલૂ /મોલ,      SiO2  =  -903.5 ક5લોYલૂ /મોલ             

  CaO.SiO2  =  -2879 ક5લોYલૂ /મોલ,          SO2  =  -296.8 ક5લોYલૂ /મોલ 

 9N5યા ઉ0મા ગણો. 

    

 A વાતાવરણની હવા માટ; Zકા ગોલક 8 તાપમાન અને ઓસ Xબ\] ુ ુ ુ ૨૯0 અને ૧૮0સે છે. 

`થળ8 ંવાતાવરણ8 ંુ  ુદબાણ ૭૫૦ mmHg છે. ૨૯0 અને ૧૮0સે તાપમાને પાણી8 ંબા0પ ુ

દબાણ અ8Nમે ુ ૩૦ mmHg અને ૧૫.૫ mmHg છે. 

_(_(_(_(    

  ગણતર5 કરો: (૧) િનરપેM મોલાલ ભીનાશ  (૨) િનરપેM ભીનાશ  (૩) %સાપેM ભીનાશ     

  VYJFVYJFVYJFVYJF     
5|`Gv#5|`Gv#5|`Gv#5|`Gv#          

 V નીચેના ંપદોની �યા�યાઆપો. _&_&_&_&    

   (૧) િનરપેM ભીનાશ  (૨) Zકા ગોલક 8 તાપમાન ુ ુ  (૩) ભીના ગોલક 8 તાપમાનુ  

 (૪) 9િતશત ભીનાશ  (૫) સાપેM ભીનાશ          (૬) ઓસ Xબ\]ુ 

    

 A ગરમ ર5ફાઇનર5 ઓઇલને ઠંc કરવા માટ; હ5ટ એMચVજરમા ંુ ૧૦૦૦૦ ક5Fા/કલાક 

શીતન પાણીનો  ઉપયોગ થાય છે. પાણી ૨૯૪0ક; ને દાખલ થાય છે. ગરમ ઓઇલનો 

_(_(_(_(    
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******** 

        

9વાહ ૫૦૦૦ ક5Fા/કલાક છે અને તાપમાન ૪૨૩0ક; છે. ગરમ ઓઇલ અને પાણીની 

સર;રાશ ઉL0મય Mમતા ૨.૫૧ ક5લોYલૂ /ક5Fા0ક; અને ૪.૧૯ ક5લોYલૂ /ક5Fા0ક; છે. બહાર 

આવતા ગરમ ઓઇલ8 ંતાપમાન ુ ૩૫૦0ક; છે. બહાર આવતા પાણી8 ંતાપમાન ુ 0સે મા ં

ગણો. 

5|`Gv$5|`Gv$5|`Gv$5|`Gv$          
 V નીચેના ંપદોની �યા�યાઆપો. _&_&_&_&    

  (૧)મયા&eદત 9eNયક      (૨)અિધક 9eNયક      (૩)fKયભાર ુ  

(૪)પeરવત&ન             (૫)ઊપજ              (૬)બળતણ 

    

 A એક કાપડમીલમા,ં hiઅસર5ય ઉદબા0પન યjં iારા ૪% કોk0ટક સોડા(NaOH) ધરાવતા 

4ાવણને સા4ં બનાવી ૨૫% ઘન પદાથ&વાl 4ાવણ બનાવવામા ંઆવેછે. ઉદબા0પન 

યjંમા ંદર ૧૦૦ક5Fા mરવઠાએ પાણીના ંક;ટલા ક5Fાુ 8 ંબાL0પભવન થશે તે ગણોુ . 

_(_(_(_(    

     VYJFVYJFVYJFVYJF     
5|`Gv$5|`Gv$5|`Gv$5|`Gv$          

 V  નીચેના ંપદોની �યા�યાઆપો. _&_&_&_&    

  (૧)9eNયા 9વાહ ર;ખાnિત  ૃ        (૨)ર5સાયકXલ\ગ           (૩)બાયપાસ  

(૪)પદાથ& સમfલા ુ                (૫)જAથા 9eNયા          (૬)સતત 9eNયા 

    

 A ૧૦૦મી૩ એમોિનયા વા1ને ુ ૨૫0સે અને ૭૫૦ મીમી પારાના દબાણે ૨૦% જલીય 

સKફ1eરક એસીડના ં4ાવણમા ંશોિષને એમોિનયમ સKફટ8 ંજલીય 4ાવણ બનાવવામા ંુ ; ુ

આવેછે. 

_(_(_(_(    

  ગણતર5 કરો (૧) એમોિનયમ સKફટનો ઉQપq;  થતો જAથો
                               

(૨) ૨૦%સKફ1eરક એસીડનો જsર5 જAથોુ ુ  

    

5555|`Gv5|`Gv5|`Gv5|`Gv5          
 V નીચેના ંપદોની �યા�યાઆપો.                                                                              _&_&_&_&    

  (૧) એકંદર દહન ઉ0મા         (૨) િનકટ8 ંmAથકરણ ુ ૃ        (૩) આખર5 mAથકરણ ૃ  

(૪) અિધકહવા                 (૫) દહન                     (૬) ચો�ખી દહનઉ0મા 

    

 A એસીટ5લીન પાણી સાથે નીચે 9માણે 9N5યા કર; છે:                                                       _(_(_(_(    

         C2H2 + H2O  → CH3CHO     
  જો એસીટ5લીનનો 9વાહ ૧ટન/કલાક, ૫૫% પeરવત&ન અને ૯૫% ઊપજ હોયતો 

આKડ5હાઇડનો ક;ટલો જAથો ઉQપન થશે તે ગણો. 

    

  VYJFVYJFVYJFVYJF     
5|`Gv55|`Gv55|`Gv55|`Gv5          

 V ચીમનીમાથંી આવતા tuવા1ઓ8 mAથકરણ આ 9માણે છેુ ુ ુ ૃ :                                              _&_&_&_&    

  CO2 ૧૧.૪%, O2 ૪.૨%, N2 ૮૪.૪% 

સmંણૂ& પeરવત&ન ધાર5ને અધીક હવાના ંટકા શોધો 

    

 A vwય અવકાશીય `xટ5ક5કરણ યjંુ મા ંજતા mરવઠામા ંવજનથી ુ ૮૨% 1ર5આુ , ૦.૫% 

બા1ર;ટ અનેુ  ૧૭.૫% પાણી છે. `xટ5ક5કરણ યjંમા ં૫૦0સે તાપમાને ૫૦% પાણી8 ુ

બાL0પભવન થાય છે. આ તાપમાને 1ર5આની 4ા�યતા દર ુ ૧૦૦ Fામ 4ાવક; ૨૦૫ 

મીલીFામ yટલી છે. જો માf4ાવણમા ંૃ ૧.૬% બા1ર;ટ હોયતોુ  1ર5આના ં`ફટ5કની ુ

ઊપજ શોધો. 

_(_(_(_(    


